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Code No: 134CF
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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
Each questron carries 10 marks and may have a, b as sub questions.

(25Marks)

l.a) What is unit distance code? ‘ [2]
b) What are the basic operations in Boolean algebra? [3]
c) Why subtractor ICs not available? [2]
d) What is a priority encoder? [3]
€) ... What are the basic fypes of shifi registers?
f) -.. What are the varrog_gmethods used for ; triggering {3]
g)-...-List the featutes.of sequential Gircuits., it 1 %
h)  What is a Modulo-N counter? What are the apphcatrons of this counter‘7 3]
i)  Explain capabilities of finite state machine. [2]
j)  Define Merger graph of n-state machine M. [3]

PART - B

/\E"

(50 Marks)

" Cove 51 _ko?blnary, octal hexadecrmal ~
b) " What is hamming code? How is the hamming code word tested and corrected. [5+5]
OR
3.a) Simplify the following Boolean expressions using the Boolean theorems.
i) (A+B+C) (B+C) + (A+D) (A'+C)
ii) (A+B) (A+B") (A'+B)
b), -rw-hy a NAND and NQR gates are known as umversal gates'7 Srmulate aﬂ the gates: ~{5+5}

Srmphfy the expreﬁsmn Y=Y, m(‘7 9 10 11,12, 13 4,15) using the k-rnap method:
b)  Simplify the following Boolean function F(A,B,C,D)= 3, m(1,3,7,11,15) + 3 d(0,2,5).
[5+5]
OR

Explain the differences between a MUX and a DEMUX. Realize 16-input multiplexer by
........ «cascading of two 8-input multiplexers. 74151, .. ... oy
«Reahze the fungtron f(A B,C D) = ﬂ(l 4,6, 10 14- + d (0,8,1 1;1.53 u

A1) 8:1 MUX:.. 2 I (S

6.a) Realize D-FF and T-FF using JK-FF. Draw the logic diagrams with their truth tables.
b) Deduce the design procedure for sequential logic circuits and give the classification of
sequential logic circuits. [5+5]

- diagrams. o [5+5]



binary adder with neat logic dlagram

sequential machine whose output is ‘I’ when the sequence is
[6+4]

8.2) Explainin detail about serial
b) Draw astate diagram for the
01.

OR
9.2)¢ Difscuss about thie ap proaches of de‘s"i‘é'ﬁmg synchrpnous: sequentfal fini
by, Dé’"s"lgn a 1101 sequence detector and draw its lgg dlagram D

are the Moore and Melay machines? Compare them.

10.a) What
the partition technique. [4+6]

b) Explain the procedure for state minimization using
OR




